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I.  Completing the list of 18 mam (assumption of 9 already listed)
a. #10: defining waters come into 0’3 from rainspout — even 93 that can’t become Xnv — as PAIRY DN (R:T MRNPN)
i. v”x whether he put the *53 there on purpose or left it there inadvertently — mpnn nx oo
ii. 7172 only o019 if he left it there on purpose
1. »77:v"1 outnumbered n”a (and the decree to include n2w was passed)
a. Note (n79): v"1 agree that if he left them out in the yard (and rainwater filled them) — not mYo1a
2. oy 7. dispute wasn't settled (>this cannot count as one of the “18”)
a. 277.00v "1 would include 1 (R:7 1) to declare 'm> girls M from day of birth (to complete 18)
iii. 27 237. all agree that if he placed them there when the clouds were “thick” — nY01a
1. And: if he placed them there when there was no cloud formation — yp1wan
2. Dispute: if he placed them when there were clouds; they subsequently dissipated then re-formed
a. v”x his original intent wasn’t cancelled when clouds dissipated
b.  /77x original intent cancelled with dissipation of clouds
b. #11:all 93 form an 7R and “conduct” nkmv if they have thickness of a y7n (shepherd’s staff) (x:10 mbnR)

i 1970 “1. based on misunderstanding of rule that if a farmer has Y111 on his back and one side was 5n&n over a
91p, he is Rnv as nnn Yy o' arnn 0Ys
ii. y”. “saves” ruling —

1.  Farmer: is ®Rnv if stick has thickness of 11 (dimensions below)
2. Vessels on the stick: are Rnv with any size staff
3. Other people and 0253 (under stick): if 093 are at least a nav wide
a. w77 the yT1In in question is 1 nav in diameter; extension (n713) to 1 Nav in circumference
b. Note: v is now “missing” one of the 18
c.  Answer: he incldues &:7 1T and holds like n™ above
c.  #12: harvesting wine grapes — dispute 59n/'%nw, »Rnw taking the position that the liquid that comes out is 1wan

i. 551 why not extend it to harvesting olives?
ii. Story: Yon was outvoted - but no one accepted n71 until v”a outnumbered Y90 n»a and it was passed
iii. Resason (X221 77): he may harvest into mxno mawp

1. Note: this is only valid if we hold that a 8nv 93 is 2wnn (=>7wan); but it it doesn’t, what is the reason?

iv. Rather (82221 77): he may harvest into tarred baskets (no liquid is lost it is 2wn) >7wan)

V. ~27T. precaution against the mawn (clustered grapes; when he picks them, juice comes out 1¥15)

Vvi. 1”1 sometimes he goes out to see if grapes are ready and deliberately squeezes juice out, and it is still there
when he harvests grapes

d. #13: planted nman is considered nmn
i Reason: precaution against a 981w’ who keeps his mnn

1. Challenge: if he didn’t give then, why would he give now?
2. Besides: 987w are not suspected of that, since they could give one kernel (per Y81nv) and be rxv

ii. Rather: precaution against a 103 planting nknv nn1In — he may keep it around and inadvertenly eat it
e. #14:if naw is starting and he is outside of town with pack, he should give it to non-Jew

i Rather than: carry it in increments of less than X7 at a time
f.  #15-18: non-Jewish bread, oil, wine and Tn» with non-Jewish girls

i. Question: how would »ov "1 (who rejected #10, above) account for 18?

1. Answer: bread is on account of oil, oil on account of wine
a. Challenge: how is bread a precaution against 0il?
2. Rather: bread and oil is on account of wine (#15), wine on account of jn'mia (#16), 11°n2 on account of nTay
N1 (#17 per "2v7) and that decree was on account of InR 127 (¥18)
a. 7N 717 status of non-Jews as 0’ar from birth, to keep 981w’ children away (1131 25vn)
ii. Challenge: if so, n”1 now has 19
1. Answer: #8-9 on our list (food and vessels that became wet) are one decree
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